
ACS200

零件圖

PARTS BOOK



2

JS-05-ACS

①

② ⑥

⑦

⑧

GSM-ACS-05F

LC360

AFR-2000L
GS-WJ005

YL-04-01

YL-04-02

SK250SK250

①-②
③

④-⑤
⑥

⑦-⑧

抬压脚
吸风
后滚轮

刹车
分料

4MM三通
⑴⑵

⑶
⑷

⑸

（上：黑线

�$�/��� �L��

⑴ ⑵ ⑶ ⑷ ⑸

GS-YLC-FT-01

PM2-5-N

GS-ACS-03F

⑤⑤④④①

②

④④ ⑤⑤

PV01

GSM-ACS-M-02

④

⑤③

ACS200 GS-ACS
-200

1 / 1

2024/03/18

(上：黑線
Upper: Black wire
  下：紅線
Lower: Red wire)

4MM 三通
4MM 3-phase

抬壓腳 Presser Foot Lifter

吸風 Suction

後滾輪 Rear Roller

煞車 Brake

分料 Divide Material

GS-ACS-05F

GS-ACS-M-02

SK250



3

ACS200 GS-ACS-
03F

1 / 1

2024/03/22

GS-ACS-03F

YL-01-06

YL-01-12

YL-01-13

YL-01-05
YL-01-10

YL-01-11

PM05-10-N

PM05-10-N

PM04-10-N

CM05-10-N

PM05-25-N

PM05-16-N

688AZZ

688AZZ

TDA16-40

M5M5
GS-WJ002

M5弹簧垫

693T12AZZ

693T12AZZ

YL-01-05A

YL-01-06A TD5 彈簧墊
TD5 Spring washers



4

ACS200 GS-ACS-
05F

1 / 1

GSM-ACS-05F

PM06-12-N

YM04-16-N

CDU20-20

ECA-01-01

ECA-01-02

2024/03/18

GS-ACS-05F



5

YL-02-13
YL-02-10

YL-02-06

PM05-06-N

608ZZ

688ZZ CSK8P

8

2*10 608ZZ

CJPB6-10

GFC-20*30-5*8
8*11

YL-02-07

PM03-10-N

PM03-03-N

693T12AZZ

ZM05-05-N

MT02

8RTM20180

YL-02-17

YL-06-01

YL-06-02

YM04-45-N

YM03-14-N

PM03-14-N

YM04-14-N

YM06-10-N

M6垫片

YM04-14-N

M4平垫

M4弹簧垫

PM08-25-N

M8平垫

手柄螺丝

YL-06-03

YL-06-04

YL-06-05

YL-06-06

YL-06-07

M4
YL-02-15YL-02-16A

YL-02-14B

DPL4-M5CDSL4-M5

YL-06-U

ACS200 GS-
ACS-M-02

1 / 1

GS-ACS-M-02-1

GS-ACS-M-02-2

YL-05-02

YL-05-01A

CDU10-30

YL-05-03

YL-05-12

YL-05-06/N

YL-05-16

YL-05-20

YL-05-10

YL-05-04

YL-05-22

YL-05-17

YL-05-05

YL-05-23

YL-05-11

YL-05-08-A

YL-05-07

YL-02-04

YM03-14-N

PM03-05-N

PM03-05-N

YM02-03-N

YM04-14-N

PM04-06-N

DPL4-M5C

SER01-R

SER01-Y

CM05-10-N

YL-05-13

2024/03/18

M6 washers

screws with 
handle

washers

M4 Spring washers

YM06-10-N



6

ACS200
控速器轉接線
Speed 
Controller
Adapter

1 / 1

控速器轉接線
Speed Controller Adapter

公殼 4P
Male Connector 4P

公殼 6P
Male Connector 6P

母殼 4P
Female 
Connector 4P

電機電控箱
Motor Control Box

DKU203NDE-E1

控速器
Speed 
Controller

1:黑線Black Wire
2:白線 White Wire
3:紅線 Red Wire
4:白線 White Wire

一體面板電控
Control Panel

2024/03/15



由於對產品的改良及更新 , 本產品零件圖及外觀的修改恕不事先通知 !
The specification and/or appearances of the equipment described in this parts list are 
subject to change because of modification which will without previous notice.
ACS200.MAR.2024


